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2. Given: 
Prove: 
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10. Given: 
Prove: SU + TU = SV 
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12. [image: ]Given: X is the midpoint of 
            Y is the midpoint of 
Prove: 
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Practice C
Geometric Proof

Write a two-column proof.

1. Given: The sum of the angle measures
in a triangle is 180°.

Prove: mZ1=m4/3+mz4

2. Peter drives on a straight road and stops at an intersection. The intersecting road
is also straight. Peter notices that one of the angles formed by the intersection is
aright angle. He concludes that the other three angles must also be right angles.
Draw a diagram and write a two-column proof to show that Peter is correct.
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Given: mZLAN = 30°, mZ1 = 15°
Prove: AM bisects ZLAN.
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Given: /2 = /4
Prove: m/Z1 =m4Z3
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Given: ZWXYis aright angle. /1 = /3
Prove: Z1 and /2 are complementary.
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9. Use the given paragraph proof to write a two-column proof. f

Given: Z1 = /4

Prove: Z2 and /3 are supplementary.

Paragraph proof:
/4 and £3 form a linear pair, so they are supplementary by the Linear Pair
Theorem. Therefore, mZ4 + m/3 = 180°. Also, Z1 and £2 are vertical angles,
so £1 = /2 by the Vertical Angles Theorem. It is given that Z1 = Z4. So by the
Transitive Property of Congruence, Z4 = £2, and by the definition of congruenft
angles, mZ4 = m/2. By substitution, mZ2 + mZ3 = 180°, so £2 and Z3 are
supplementary by the definition of supplementary angles.

10. Use the given two-column proof to write a paragraph proof.

Given: /1 and Z2 are complementary.
Prove: Z2 and £3 are complementary. )

Two-column proof: 3

1. £1 and £2 are comple
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Given: £2 and £5 are right angles.
mZl + m42 + m£3 = mZ4 + mZ5 + mZ6
4

Prove: Z1 = £
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EXAMPLE 5. Use the given paragraph proof to write a two-column proof.
p.120 Given: £2 = /4
Prove: /1= /3
Paragraph proof:
By the Vertical Angles Theorem, £ £2,and £3 = /4.
Itis given that £2 = Z4. By the Transitive Property of
Congruence, Z1 = /4, and thus Z1 = /3.

X AMPLE 6. Use the given two-column proof to write a paragraph proof. A F
p.121 Given: BD bisects ZABC. N8 3
Prove: BG bisects ZFBH. D 2 4G
Two-column proof: c H

. BD bisects ZABC. . Given
1=/2 . Def. of £ bisector
L1=/4,/2=/3 . Vert. & Thm.
. /4= /2 . Trans. Prop. of = Steps 2, 3
. /4=/3 . Trans. Prop. of = Steps 3, 4
. BG bisects ZFBH. . Def. of Z bisector
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